ol
i~
No

N

)

Utk 5 mhse] o]

7F171aL s

=
=

A AZE 22 TA]

1.

T2

<)

_ZF_

=

=

o) 7t

=

150°

ul

150° 4y tt.




ol
RS

o] 747} 30° 7} W

T
74,

Al (B 270)

)

= <]
<]
—
Mm@ @
R0
A A A

.

ul
KO

A

Iyt

o

ol 12 o 93, 71 ut

7}

on
LN

e
8|7

mJ

AAIA 30° =

uhs Aol 1

O
—

=¥ &

=
=

watA] 30 vt
7+l 7

1 AJ2F11 Al mf Ay e

o 1
T'C;g




AAZE B AlzhE 7, A

715 F5HA L.

3} B2lo] o] 2= AL £ 9]

3A] 302
> c g
> ®™et: 75°
NS st 27 Aol 1

L
o

3A 30 & 30°x2+15°=75° YUt}




4.

| 2
[> &b 85°

(90° + @ +40°) + (© + 80° + 65°) = 360°
@+ © + 275° = 360°
G+ 0O=85°




5.

o IO [t Y 2t g AP oA,

| ju]
40 40
70°
L C =
=1 ©

(ZF 7EL)=180° - (40°+90°) = 50°
(ZF BT 2)=180°~ (40° +70°) = 70° 0|22
(Zt 7EB)=180°-50°-70°=60°




the AP gel Al 7 12l 2718 Tk,

>
[> Heh: 105°

(ZrL1E)=180°-35°-90°=55°
(Zt 121)=360°-110°-90°-55° = 105°




O
jille
rlo
»
>
i)
ogl

TLEegdydh 2@ 2718 FetAL.

1 =
65°
35" I>n
IR @ |
=13 °

| 2
> &g 80°

7 @9] 37]= 180 - 10 — 90 = 80 (°)




o) 4747 5 A2 o7

SHA Q..

g7

90°+90°=180°




iy
o

| 2
> Heh: 105°

1)

~&B

A7 W2h-2 v & 7HA] 97 lsy T
© A zol 52  90°, 45°, 45°

@ A2+ - 90°, 60°, 30°

71 @ =45°, © = 60°°]| P&

@D+O© =45°+60°=105°gYct.




10.

vV V¥

i

;

35 o
e

L - =

85°

18

AZY R o Al 4] &2 180° 0| B &

A7 LanofA (Zr mL2)=180°- (60°+90°) = 30°
(ZF718)=90°-30°=60°

A2 v voA (Z 1EL)=180°-35°-60° = 85° YUt}




ARG AL e g 19T} gol

11.

SHA 2.

_ZF_

‘ (180° —46°) +2 = 67°




12. 2@ 2 09 2719 e 9 =] FohAl e

) 80°

L
o

120° + 80°+ (&4 Q)+(&4 ©)=360°°] 22
(Zt @)+ (ZH ©)=360°—120° — 80° = 160°




13. thg =3elH G 09 ZEe] G FotAle,

©

70°

L
o

>
> ®gh: 200°

D+O©+90°+70°=360°
@+O©=200°




ZF©) = 180° - 110° = 70°
(Zt @) =360°-105° - 70° - 85° = 100°
@) - (& ©)=100°-70° = 30°




15. o8 29014 @9t ©2] 2z o] e T4,

7
75 Vs
@ =
130
507 o
2 70

)=180°-75°—-50° =55°
)=360°—-130°—-"70°—-"75°=85°
> (Z @)+ (Z @)=55°+85° = 140°

© 39




110°

120°

Ch " o
H =

80°

VAR 4
0x
iy

(7
[ ]=360°-90°-120°-70°=80°




17. o8 23004 @st ©2] 229 e T4,

@
@
)
55°N\/\65°

>
> ®eh: 120°

@)= 180°-55°—65° = 60°
@)+ (Z @)+60° = 180°
@

+
)+ (ZF @)= 180° - 60° = 120°




123°

76°

@ 69° @71° ® 70° @ 82°

® 92°

360° — (123° + 76° + 90°) = 71°




[ ] ore A A= A2

3 Al 7+ g x2

|x2=|

of o
o
jan
e}
—

oy SR I
RO

A A N




Tol T

Hx2

__OH

SEEERE

1@0
N
~H

&

T

) = (

T

ot

Dx2

(A17H3 ) 7o) 279
[]

360°°]1l

O
—

AZre o] 7o) 2719 %




21. the EFNA 2t @ 2718 T2,

2
o 100°
@

iy
o

[ 2
> =l 140°

A2 ol ] gt Zke] 27]
180° = (100° +40°) = 40°
(ZF @h)=180°—40° = 140°




22. 9% O A= = T L.

[ 2
> =E: 45°

@ + © +135° = 180°
@+ © =180°-135°
Q+ O =45°




